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XeoFl gi XeO2F2 + t6{ol qai drsTr 61 f{+qq
eifsq r

Discuss thc hybridisation and structure ol'XeOF2 and

XeOrF,.

EICGIT

Or

n1Frm ffikgs qfrq{q qrnr{-tz frl q?FI q0q{q ft1

{lqrcf{fi erF{fs.qr sia faft*qr

Writc the chromyl chloride tcst Or Ring test ol'nitrate

rvith chemical reaction.

oD-DsdOalflBn
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Ilnolganic Che mistry'l

Time : Three Hours l I Maximun Marks : 33

lz : uve 'of ' otfu dg -f,i?q gzFlr ail, ffii elra vw t,
etffi tt @w'E'C eg ffiifu rrrTT * Yfl{ d'sa
@w's'i Eld sflfis vw tr uw's7'm7'rd'A c-dd

6a f6w arn *t
Nale: Section 'A', containing 8 vcr-v- slort atls:njer lype

questions, is contpulsorv. Section 'B' consisls oJ

ihort ansv;er ry)pe questions urid section 'C'
consists oflong orrst'er ttpe tlueslioits. Section '-4'

has to be solved Jirst.

q'ug,3T,
Section'A'

fiqif$d afu ag rafs ,T"ri d rar c-*- qr <l qt*ii
frfr
Anst,er lhe .follov,ing sltot't crrt.ttvct n'pe qucslions

irt one or ht'o se ntetu'es. 8x l:8
1. d-sq+1sr d' qsr'+i 61 det qti {+'fr fefuq t

Write the nutuber-and slntbol ol' rl-srtbshcll.
PT,O,t8l 8/85O



Code No. : A.S-155
2pr d frq n. t. ntgd r 6.l q6 q6$;

Give the value of r, l, m and s for 2p3.

Csct61 {i€{r Eiitqql

Draw the structurc of CsCl.

PCr3 61 {rsr qd qrftrfr Tdr$El

Give the hybridisation and geonterry of pCl3.

tiq*'q el rrul-{T 6l q{ fdfuql

Write the tbnnula for calculation ol' bond order.

sr{frc cr t{rfrt{ sr sTEqr felssr

Write the molecular lbrmula of Diborane or
Tetraborane.

Smtn'm t ?

What is Fullerene ?

Code No. : A.S-155

Explain the solvation energv. Describe the factors

affecling it.

VSEPR fiTETA * 3TILIR 1I{. NFI3. H2O V.i ICI, d
3Tr+T G ?isr61ui Bl 1;q{r{q I

Explain the shape and bontl lngles in NI{;. [i2O and

ICl, - according to VSEPR theory.

3ISTEI

Or

N2 s'r eTrfuffi 6.S166' eTA@ qtga aqr qs-S tiq-*-q
qi grq-*ic q-+tn o1 ffiq-fl *ifrql

Dravt the M.O. diagrarn lbr N" and discuss its bond

order and magnetic behaviour.

Na, K G Ca a-d + qf{fi ii, ii +.14 H1 ffifir
oifeC r

Discuss the linclion of Na. K and Ca elenrents in bio-

sYStem.

3I9IE[

Or

!
4.

1

s. qrEls.Rr s{Edlq Wdt s.r lErfru vno * w-urqfrqTs{
eii emrq-+ t ?

Why the removal ol' interfering acid radicals

!)ecessar), aflel thc second group ?

I2l

5tfu ar fr{rtr qr Mt frfuqr

Write' uote on fullerenes or bolazine s.

l7l PTO.
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qsrit 61 3rq-{S{ fs6m fdf@Ct 6-q-t-q-c A
3<r6{uT +ffr qrqr qiF{q 

r

Write the Pauli's exclusion principle. Explain at least

trvo examples.

qsrat

Or

{fl4d-dfr qi qru-s{qrm fx-.'qr 41 E<rflur qf{d
q€r{qt qTo-giE{rfr t*qr q] qr{ Ei{n €Edd-qs
fi-qr t BTfir+ fll dm t u

Explain the covalent and Vander wall Radii with

exatnple. Why Vander rvall radii are alrvavs greater

than covalent radii ?

frrsqr 3r-Jqaflrt ? E€-?ffifdfuqr sTrqfrdt
qrqq rirqtr ge eg$ s1 cqrfird-a t qE f+-s

s-{R qqF$r-d t ?

What ii radius ratio ? Write its lirnitations. How is it

related rvith coordination number of ions and

geometry of the rnolecules ?

3TStSt

Or

i+erq-m sst +t {T$T{A r gi sqrE-d q.{i qrd

6.n-*i 6] Eui{ s1tqql
I6i

Codc No. : A.S-I55

tr"i,
ffid dg ;-di?q yra} d
Cdr
Ansv;er the folloving short
with word linxit I50-200.

sd{ 150-200 flq aTqT

an\$;er fi)pe questions
2x5=10

t. t+qa-auncc-f,f,r dr cRr{rfu-d *1ls\r a-q-Q 3Tfirfr

Tur-fuqitq dc"{ 6T nrq G'qrq e-diSa nql {{+l
qrrTfr'd 6G erd qtrf, 1kfiqu r

Define electronegativity. Give the name and value of
highest electronegativc element and write the factors

affecting them.

3Tstql

Or

yqrql nrflrstq eTfi{r flr t z N, F Mg', * cqr*
Trfir+tc aTrayr 41 rppal alfvq r

What is effective nuclear charge ? Calculate the

effective nuclear charge of N7 and Mgl2.

z. fqqn-aoTnffidr 3rfri * qrqR q{ f+q qi qffrq
Re-{i+{fi q)frrqii +t BEr6{0T €f{d qqgr{a 

r

Explain the polar and non-polar covalent compounds

on the basis of electronegativity difference with

examples.

t3I Pro



qilso tis Hr t
srflqA r

What is metallic
theory.

No. : A.S-155

eTgrql

Or

z qu-* gm ffir fqar< 6l

bond ? Explain its electron free

ri*rut wr t ? spu G pcr, + {i*-{q d qq-flr{i 
I

What is hybridisation ? Explain the hybridisation of
SF6 and PCl5.

3ISrqI

Or'

02 or onFr4q 4'qrs' eTris qri-{A r *r+r tiq-*'q rei
gq-+1q q+or e-dFAr

Draw the M.O. diagrarn lbr ()2. Give its bond order'

and rnagnetic behaviour.

4. xx's rfiR A 3rd{ ffiqr dfui + lrc G {irq-{
lefuqr

Write the name and stlucture of XX! type interhalogen

compounds.

I4t
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Slerqr

Or

i erqr€1 (qc) ffisrc df rqit * qrq, {Ir G q-iTi

61 fdflr lefuqr

Write the name. fbnnula and method of preparation

of two pseudohalogen compound.

XeFa gi XeF6 * {ftTur qi {aqa1 q-ffq} 
1

Give the hybridisation and structure of XeFa aud XeF6.

sTSrqr

Or

Fe (3Trq.c) ts--{ qT. ti t U W-*r <Xo efilr*rt+
Hr t ? qr{rc{ qr Iqrcqq ffiq +Q s{A t ?

Which group contain in Fe (iron) ? What its group

reagent ? Ilorv does the qualitatir,c analysis of iron ?

gu-g,('
Section.C'

frqifud dd rat?.s e{;} d rw 300-J50 qte slql
Cdi
Answer the following long answer type questions
with word linit -t00-350. 3x5=15

Code

5.

t5l PT,O.


